Seat No.

Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C321102

Subject Name: ELECTRONICS NETWORKS

Time: 10:30 AM TO 12:00 PM

Instructions:

1. Attempt all questions.

2. Make suitable assumption wherever necessary.
3. Each question is of 1 mark.

4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)

5. English version is authentic.

Date: 08-06 -2015

Total Marks: 70

No. Question Text and Option. U# wA [Ascdl.,

Unit of inductance

1. A Ohm
C. Henry
BoS52o oll AUSH
L. A sl
c. &dil

Unit of capacitance

2. A. Henry

C. Ohm

$UA2o oll AsH
. A &aldl

c. ua

Energy stored in inductor is

3. A Ww=1/72 L7
C. w=1/2 CL?

85522 HL Hole YA Gost

3. A W=1/2 L7
C. w=1/2 CL?

4. Energy stored in capacitor is

Faraday

None of these

%23
WSl AL AsURL A8l

Faraday

Ampere

503
AR

W=1/2 Cv*

None of these

W=1/2 CVv*
WSl AUAAL AsURL o8l
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o

A. W=1/2 CL? B. W=1/2 CV?

C. W=1/2 L#¢ D. None of these
$UleuL Aole UAA Gt

A. W=1/2 CL? B. W=1/2 CV?

C. W=1/2 Li2 D. Al AU AsULL o8l

As the number of resistors increase in parallel, the total resistance is

A. Constant B. Increase

C. Decrease D. None of these

WRAA HL 2R ofl vl cllRalHl HA dl §H PR3

A. AN B. df

C. D. Al AU AsUL o8l

When R1=30 Q and R2=20 Q connected in series, what is total resistance?

A. 60 Q B. 600 Q

C. 10Q D. 50Q

%R R1=230 Q ol R2=20 Q Y3103 HL SlscllHl WA Al §AH 2920 Y2
A. 60 Q B. 600 Q

C. 10Q D. 50Q

When C1=20 F and C2=40 F connected in parallel, what is total capacitance?

A. 800 F B. 20F
C. 60F D. 2F
%R C1=20 F ¥al C2=40 F et ML SscllHl A dl $A FU{lec 92
A. 800 F B. 20F
C. 60F D. 2F
Any closed path in network is called ___ ?

A. Branch B. Loop
C. Node D. Mesh
azas ofl vieR oy uua o sdallA?
A Gt B. M
Cc. ols D. A2l

Which is active element?

A. Resistor B.  Inductor

C. Capacitor D. Voltage source
Asdla Ues sA?

A AcRlY B. ©o582R

c. 3U:le? D. deey A
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Which is passive element?

10. A. Voltage source B.  Current source
C. Both A&B D. Capacitor
Wlla ues sA01?

0. A.  dldey ARl B. s A
C. oid A ua ol D. 3ule?

Dual of inductance is

11. A. Capacitance B. Resistance
C. Conductance D. voltage
BoS52o o SYA

. A 30les B. AU
C. So582c D. A%

Dual of voltage is

12.  A. Resistance B. Inductance
C. Current D. Conductance
AR o SYA
R, A WA B. 8oS520
C. 82 D. SoSS2o
Principle of duality means changing of variables .
13.  A. Dependant B. Independent
C. Both A&B D. None of these
AeRAUA 205 syuclldl Aed AeBoL 2% A Ao,
3. A (3Uelse2 B. &ol(sUslsc
C. olR 3w ua o D. A8l A AsuR o8l
__ used in mesh analysis?
14. A. KVL B. KCL
C. Creamer rule D. None of these
oll UL A Aetl(@A{l 1L A B?
. A 3dlAA B. 3{Ac
c. [BUR3d D. WSl AL AsULL o8l
is used in node analysis?
15. A.  KVL B.  Creamer rule
C. KCL D. None of these
oll GUalol A AWolll@AA 1L e B?
s A 3lRA B. [BH2 3¢
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16.

6.

17.

9.

18.

.

19.

20.

R0.

21.

c. Ra D.
Mesh analysis is applicable to

A.  Network B.
C. Symmetric network D.

A Aotl@AU LAl A ULSCUHL WLA?

A, aed B.
c. Adls Acab D.
Dual of KVL is

A. KCL

C. Node analysis D.
sclAd of sy

A 3{RA B.
C. olls AelllA{lu D.
KVL is applicable to

A. DC only B.
C. Both A &B D.
At Sl Aol wisl astau?

A $5d Sl

C. oad 3w ol D.

Thevenin’s equivalent circuit consist of

A. Voltage source with series B.
resistance

C. Current source with parallel D.
resistance

WSl AL AsULL o8l

Planner network

Asymmetric network

WHlolR el
AAAEs Aecld

Mesh analysis

None of these

A Ai@Aln
WSl AUAAL AsURL o8l

AC only

None of these

g5l Al
UL AUAAL AsURL o8l

A single current source and A single
voltage source
Voltage source with parallel

resistance

Al sscllacde usle Aoll dAAl sl B?

A Ay A dla ARl B.
%2

C. s AR dla VRdA et D.

Aot s22 A wal oA Al
AR
Al WA la WRAHA 292

Superposition theorem is applicable to network having

A. Linear element B.

C. None linear element D.

Bilateral element

Both A & B

YURAUWA Ut (21 82 ACAZuA g Aeas dlAat

A, dlo{lar AcllAe B.
C. oot Alo(lar AAHe D.

Norton’s equivalent circuit consist of

ollAAR2A A He
olgl A Wal »
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1.

22.

2.

23.

3.

24.

R¥.

25.

QU.

A. ldeal voltage source and B. Ideal current source and parallel

parallel resistor resistor
C. Ideal current source and a D. All of these

series resistor

AR B5flade usle Aol Ul slat B2

A ABSlAA AR A Wal B. wBslAd 52 ARl wal WA
WRAA YRR 9w

C. uwslad s2 A Aa D. Al AU ol %
Ay 222

Maximum power transfer takes place when a load impedance is

A. Equal to the complex B. Equal to source impedance
conjugate of source impedance

C. BothA&B D. None of these

HEH ULlAR R % 2lod$R A AR AS S1dlso ¢RLeR

A Bsdd g slHwAe sxdle B. cRAeR A srllse
AUy WA srdlse

C. olR 3w ua o D. A8l A AsuRL o8l
According to Thevenin’s theorem, load current (I, ) is given by

A.  V,/R, B. V,/I+R,

C. Vu/Ru+ R D. None of these

AdAld dlar YHIE, Als 522(1) UL Y2t GlRL AUCHL A B?

A.  V,/R, B. V,/I+R,

C. V,/Ry+ R, D. Al AU AsUQL o8l
According to Norton’s theorem, load current (I, ) is given by

A. 1 x (Ry/Reg*R.) B. I, x (V,/R)

C. I.x(V,+ R)/ R, D. None of these

sllRelo laARM YHIQ, AS $R2(],) Sl YA GlRL AUUAHL WA B?
A. 1 x (Ry/Re*R.) B. I.x (V,/R.)

C. I x(V,+R)/ R D. Al WA AsuL 18l

Find out I, for Thevenin’s theorem, V,=10 V, R,=2 Q, R,= 8 Q

A 1A B. 2A
C. 15A D. 3A
Aadld flard ot Guotell I, A, V=10 V, R,=2 Q, R.= 8 Q
A 1A B. 2A

C. 15A D. 3A



26.

RS.

27.

0.

28.

RC.

29.

RC.

30.

30.

31.

Dual of resistance is

A. Inductance B. Capacitance

C. Conductance D. None of these

W2 of SYA

A BoS520 B. 3U{lesd

C. So5%2a D. A8l AU AsULL o8l

Dual of series connection is

A. Parallel connection B. Delta connection

C. Star connection D. None of these

A3 Alsiel of syct

A, VRAA Blslal B. 3cal %lslal

C. wIR Hlsal D. W3l AL AsULL o8l
Thevenin’s theorem can be applied to

A. DC circuit only B. AC circuit only

C. Both AC and DC circuit D. None of these

Al larM oflAtt Usl Slal Ao wisl asta?

A, gse SIRll usle B. ss2 Al usle

C. ol A wuax Sl usle D. A8l AU AsuRL o8l

The two laws which form basic of circuit analysis were stated by

A. Bohr's law B. Kirchhoff's law
C. Ohm’s law D. Faraday’s law
A [AQan B usle Aoticlalldt W dollatldA © ...

A eR oll [ B. (3als ol [(an
C. & ol Ran D. %3 ol [an

“Algebraic sum of all current meeting at junction in any electric circuit is zero” is

a statement of?

A.  KVL B. KCL

C. Both A &B D. None of these

“ofslol WIOLN AW Ucll Gl 52 oll AU Yo ALlA & A gl (UM of
Quiet ®?

A ¥dlRA B. 3dAct

C. ol A wa ol D. Al AU AsULL o8l

Quality factor of inductor is
A. o/LR B. /R
C. oL/R D. None of these
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3.

32.

3R.

33.

33.

34.

3%.

35.

34,

36.

36.

37.

Bo552 oll sAUAS 3522
A. o/LR B. o/R
C. oL/R D. Sl WAL AsuURL 18l

Quality factor of capacitor is

A. ®o/CR B. 1/ oCR

C. oC/R D. None of these

3URERR ol A ¥s522

A. ®o/CR B. 1/ oCR

C. C/R D. WSl AL AsURL o8l

Frequency at which resonance occur is known as

A. Inductive reactance B. Capacitive reactance

C. Resonance frequency D. None of these

% (35l Wl AU GedA B A (55ciR(l sall oA oA B?
A, 8etssdla RAs2U B. 3UREla Rulseu

C. AU (55dll D. WSl AL AsURL o8l
For series resonance power factor is

A 1.2 B. 1.5

C. Unity D. None of these

A 00 AY HIZ WaR ¥52R of YU

A 1.2 B. 1.5

C. UsH D. A8l AU AsULL o8l

For parallel resonance power factor is

A.  Unity B. Less than unity
C. Greater than unity D. None of these
WRAA AU HE WAR §52R of HEU
A UsH B. AsH $cll AUY
C. AUsH sl dUR D. W3l AL AsULL o8l
For series resonance, resonance frequency is given by
A 1/2n/LC B. 1/2n\/Z_R_2
LC L?
C. 2n/VLC D. None of these
A3 AU 1A, 00AA (3sciRll of YA
A 1/2n/LC B. VZRF_E
LC L2
Cc. 2mn/VLC D. A8l AU AsuR o8l

Unit of Quality factor (Q) is
A.  No unit B. Hennery
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39.

38.

3¢.

39.

3¢.

40.

¥0.

41.

¥q.

42.

¥R.

C. Faraday D. None of these
sAlcldl ¥522(Q) ol AsH

A. ol AsH B. &3l

Cc. %0 D. A8l A AsuR o8l
Coefficient of coupling(K) is given by

A, M/VL1L2 B. C/VL1L2

C. R/VL1L2 D. None of these
SIRAGRIAUe A s s1clol of Yt

A.  M/VL1L2 B. C/VL1L2

C. R/VL1L2 D. Sl WAL AsuURL 18l

Double tune air-core transformer has

A. Primary circuit has adjustable B.  Secondary circuit has adjustable
capacitive reactance capacitive reactance
C. BothA&B D. None of these

SUA 2Yol AR-5R oSl M2 5 clsa ALY B?

A U3l usle 808 usBROA B, Ades3| U2 30 wsBRUA
$U{Ela lAse 50l AAsesu

C. old ¥ wa ol D. Al AU AsULL o8l

Find quality factor of inductor. L=50H, ®=2,R=20Q

A 5 B. 10
C. 20 D. 15
sl 3522 of YA Bos52R MR MU? L=50H, ®=2,R=20Q
A 5 B. 10
C. 20 D. 15

Find quality factor of capacitor . C=20F, ®=1,R=5 Q

A. 0.1 B. 0.01
C. 0.5 D.  0.0001

sl 3522 of yea 3UAle: U2 WAN? C=20F, w=1,R=5 Q
A. 0.1 B. 0.01

C. 0.5 D.  0.0001

Find bandwidth for f,_100Hz f,=250 Hz

A. 350 Hz B. 150 Hz
C. 50 Hz D. 100 Hz
Aos(Ae of Yeat NHUN? f,.100Hz f,=250 Hz

A. 350 Hz B. 150 Hz
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43.

¥3.

44.

¥Y¥.

45.

¥,

46.

¥S.

47.

¥O.

C. 50Hz D. 100 Hz

Attenuator is used to

A. Increase power level of input B. Reduce power level of input signal
signal

C. Increase frequency level of D. None of these
input signal

ALaRY2R ol Gullol

A, 8atyd Yoeld ol Wk AAdd B,  8alyd {oelct oll UlaR Addt o
ol dulel Hie ualsal M

C. 8ayc Yoot ofl (sciall D. A&l AU AsUQL o8l
Add ol dulRdl HIE

Fix attenuator is called

A.  Shunt B. Pad

C. Equalizer D. None of these

glet A2oyeR ol Aol Ul sall oA WA B?

A. Ao B. 1S

C. sEACARR D. W3l AL AsULL o8l

The network design to provide compensation against distortion that occur in a
signal while passing through network is called

A. Resonance B.  Quality factor

C. Equalizer D. Attenuator

2R oot aleats Hiell UAR Al B RUR AML Udl SluRlelet A He weal
HIA % adlead Slostget scUMl A B A sl oA AOWA B?

A RAA™U B. sl ¥seR
C. slAacABR D. AeYer
Which is phase equalizer?

A. Lattice B.  Shunt

C. Series D.  Full shunt
ol Aetl Usl 53 ¥ BEACUANR B?

A QA B. o2

c. D. §H Ue2
Which is two terminal amplitude equalizer?

A. Bridge T B.  Full series
C. Full shunt D Series

ol Aetl Usl 5o g 2Bt NOARYS BEACUARBR B?
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48.

¥C.

49.

50.

vo.

51.

ua.

52.

UR.

53.

A [ & B. g Al

C. $A A D. Iy

Which is four terminal amplitude equalizer?

A. Series B.  Shunt

C. Full series D. None of these

ol Aoll USl 59 SR 2llolct ABARYS BEAUURR B?

A AR B. o2

C. gt A D. &l AU Asugl o8l
Loss in dB for attenuator is given by

A. 10log,(Pi/Po) B. 20log,,(Pi/Po)

C. 10log.(Pi/Po D. None of these

AR HI2 SHled Hl AR uclle ¥yt

A. 10log,.(Pi/Po) B. 20log,,(Pi/Po)

C. 10log.(Pi/Po D. A8l AU AsuR o8l
Loss in Neper is

A. 10log,,(Vi/Vo) B. Log.(Vi/Vo)

C. 10log,,(Vi?/Vo?) D. None of these

olluR Hl A Wuclle] YA

A. 10log,(Vi/Vo) B. Log.(Vi/Vo)

C. 10log,,(Vi?/Vo?) D. W3l AL AsULL o8l
Relation between dB and Neper is

A. dB=8.686xlogN B. dB=0.868xlogN

C. dB=8.686xlog,N D. None of these

Sl Al oflur A doiu ellad Yo

A. dB=8.686xlogN B. dB=0.868xlogN

C. dB=8.686xlog,N D. gl WA AsuL 18l

Find loss in dB for Pi=100,Po=10

A. 20 B. 10

C. 30 D. 15

SYlod 1L A Y. Pi=100,Po=10

A. 20 B. 10

C. 30 D. 15

Find N for D=40

A. 10 B. 100

C. 200 D. None of these
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u3.

54.

uy.

55.

uu.

56.

us.

57.

9.

58.

uc.

59.

N of e . D=40

A. 10

C. 200

Which is phase equalizer?

A. Series

C. Bridge T

ol Aetl US| 5o 52 SEAAURR B?
A AR

c. @x2l

Equalizer is used to compensate

A. Uniform response of a network

C. BothA&B

B.
D.

100
WSl AUAAL AsURL o8l

Shunt

None of these

Aot
UL AUAAL AsURL o8l

Non uniform response of network

None of these

SEAANBR oll GUADL 9 HE scll ALA B?

A YA Rudleu uls slead
C. ol A AU ol

One Neperisequalto __ dB.
A. 0.1152dB

C. 0.868dB

A5 olUR WRAGR Sflolc.
A. 0.1152dB

C. 0.868dB

B.
D.

B.
D.

allot YASH Rulo 2g Aeab
WSl AUAAL AsURL o8l

0.686dB

None of these

0.686dB
A AN BV T

It passes lower frequencies and stop high frequencies.

A. High pass filter
C. Band pass filter

B.
D.

Low pass filter

Band stop filter

A AR Bsdll A W 52 6l8 (Bscll A R\ 2.

A slsw gleeR

C. Qosu sleeR

It passes certain band of frequencies
A. High pass filter

C. Band pass filter

B.
D.

B.
D.

A uys AssA (Bscfl Aos ol WA 3.

A BlBUWA gleeR
C. Oosu sleeR
It stop certain band of frequencies

A. High pass filter

B.
D.

AWA $lee?
AoswlU sl

Low pass filter

Band stop filter

AW $lee?
AoswlU sl

Low pass filter
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ue.

60.

SO.

61.

SAq.

62.

SR.

63.

S3.

64.

S¥.

65.

C. Band stop filter D. Band pass filter
A s AssA (35dAl Aos A RAU 5.

A elsu gleeR B. AW $leeR
C. QoS gleeR D. dosUW gleeR
Notch filter is

A. Band stop filter B. Band pass filter
C. High pass filter D. Low pass filter
AU gleeR 8?

A QosRU gleeR B. WoSU $leeR
C. &lBu sl D. AW $lee

For an ideal filter,in the pass band the attenuation constant a should be

Al a=0 B. o = o

C. BothA&B D. None of these

ULE FleaR HIZ WRARACS HL AN2a2Uol MU o o HEU

AL a=0 B. o = o

C. oigl W UA o D. W8l AL AsUBL o8l

In active filter which component is not used

A. Resister B. Capacitor

C. Inductor D. None of these

Alsed sleeR HL sl des ol UL Ul otell?

A BkreR B. 3Ule?

C. ©alsseR D. WSl AL AsURL o8l

In active filter, input impedance is

A, Low B. High

C. Both A&B D. None of these

Aldea glee Hl 8otye sHse 3l sl §?

A. oA B. G

C. old ¥ wa ol D. Al AU AsULL o8l

In passive filter ,input impedance is

A. Low B. High

C. Both A&B D. None of these

Wlla gleer | gotye sHsa 3l sl B?

A. oA B. G

C. ola 3w ua o D. A8l A AsuR o8l

Cut-off frequency for constant —K low pass filter is
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SU.

66.

SS.

67.

S9.

68.

SC.

69.

70.

90.

A 1/m/LC B. w/VLC

C. k/VLC D. None of these

Slodleoe- K iU gleeR vl s2-3lls ($scl of Yot

A.  1/mLC B. =/ VLC

C. k/VLC D. Al AU AsULL o8l
Cut-off frequency for constant —K high pass filter is

A.  1/mLC B. 1/4nVLC

C. =/ VLC D. None of these

Slodeoe- K slaAU $leeR i se-ls (sdl of Y2t

A.  1/nVLC B. 1/4nVLC

Cc. un/VLC D. Al AU AsULL o8l
Active filter require power supply.

A. Single B. Dual

C. BothA &B D. None of these

ABea gleer ML uleR el ofl %32 ud ®.

A, o B. SYd

C. ola 3w ua o D. A8l A AsuRL o8l
For constant k high pass filter L is

A. L/4nfc B. k/4nfc

C. C/4nfc D. None of these

Slod2oe- K slAURL $lceR Hid L 20l 2L,
A, L/4nfc B. k/4nfc
C. C/4xfc D. W8l AL AsUBL o8l

For constant k high pass filter C is

A.  1/4nfck B. k/4xfc

C. 4n/fck D. None of these

Slodleoe- K slAURL §leeR Hld ¢ 2luclle ¥t

A.  1/4nfck B. k/4nfc

C. 4n/fck D. WSl AL AsURL o8l

Passive filter circuit is

A. Compact B.  Bulky

C. Less weight D. None of these

Aalla $lee: usle 3l sl ® 2

A slse B. ey

C. QA aAve D. WSl AL AsURL o8l
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